203

—_—

maths-school.co.uk

Upper and lower Bounds
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1) Find the upper and lower bounds of the following lengths which have been rounded to the nearest cm:

asem  :1LB:4.5 UB: 5.5 d9em  :1 B:8.5 UB:9.5

13em (LB:12.5 UB:13.5 efloem  LB:9.5 UB:10.5

g3 LB:29.5 UB: 30.5 f) 50 cm LB:49.5 UB:50.5

43k || B:4.25 UB:4.35 | 9% || B-16.25 UB:16.35

b28ke (| B:2,75 UB:2.85 | @145% | B:14.45 UB:14.55

995 | B:9.45 UB:9.55 f7omg | B:6.95 UB:7.05
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3) Find the upper and lower bounds of the following distances which have been rounded to 1 significant figure:

98m | |B:7.5 UB:8.5 930 || B:250 UB: 350

oieem  LB: 3.5 UB: 4.5 08m | B:0.75 UB:0.85

asor | LB:45 UB: 55  fooskm | LB: 0.045 UB: 0.055

r4)Usingthevaluesgivenabove: a=9 b=8 «¢=10 d=15 e=20 f=85 g=110 h=50w
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Exam question
Chip has estimated the dimensions of his
room as shown to the nearest metre.
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What is the minimum perimeter that the
room could be if measured accurately?
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